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® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
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ohe A da® + 0+ 9p? o] HAFA]
299

O +6ab @ 6ab
@ilQab ® 12ab

® —6ab

(2a + 3b)* = 4a? + 12ab + 9b*




5.

l<x<49 o Vx2-2x+1- Vx2—8x+ 16 & 7tt5] 514?

® 2x-2 @ 2x+1 ®)2x-5

@ 3x-1 ® 3x+1

B

V2 —2x+1- Va2 -8x+ 16
MY/ e Y c=r v
=lx—1 - |x -4
=x—-1+x-4=2x-5




6.

x=3+2V2, y=3-2v2 4 o, x2 % o] g& 52

O 24 @ -24 ®0
@ —24+2 024«/'

B
x2—y2
= (x+y)(x-v)
=(3+2V2+3-2V2)(3+2V2-3+2V2)
=6x4V2 =242




7.

xX2—dx—-A=

® -36

B

@ -54 @36

@ 54

(x+5)(x-B) & 1525 Hrh. A-B 9| g& 513

® 64

X2 —4dx -

B=9
. A-B=

A

= (x+5)(x—B)
= x> - Bx+5x—5B
=x2+ (5-B)x-5B

5—B=-4,5B=A
A =145
45-9=36




8.

e Bololq £7] e AL BE B

() 49 o] AlET2 7 °|th,

L) V144 o] AlFLE 12 o]t
(£) 200 O AlFE +20 ot
@ -4 o AlFT2 ik
(@) - v25 = -5 o &t}

B)L\E)

(L) (V144 ©] AFT)= (12 o] AFD)= V12
(©) (200 o] AlF)= £10V2




N

=

@ 15cm

(B3P Q] Hol)
3x5=x2

~ x= Vl5cm




T 1 64 8
@ @252 @ -Vor=1n
® V4 =3 @«/0.0 — 0.0001
® —V49 = -7

v0.01 =0.1




11, ohe F Uela) ot b2 shube gom?

® (V2)" + (V) @ (—V2)* 4 VI
(© EV/EEE ® V2 4 V1

@ (v2)*+ (VD) =2+1=3
@ (V22 +V12=2+1=3
®-/(22+ VE=-2+1=-1
@ V2 4+ V12=2+1=3

® (<22 + VE=2+1=3




12. 0<a<19W, /1-0?- /la-1)? & 2HHs] o2

@o @ 2 ® 2a-2

@ 2a+2 ® -2a+2

0<a<l19B=24-1<0,1-a>0

V-a?-/la-12=1-a)-{-(a-1)}
=l-a+a-1=0




13. thg 297} o] 24 9o g wo] Wol7k 1 ) YA7HY ABCD
©) 744 AC = AP, BD = BQ &) 4 P, Q& $24 §1] ke
o, P(a), Q(b) °l Hate] The & §-& AL

D C
II \\
< vy A B v -
Q(b) 2 3 P
27]

@ Pla) =2+ V2 © Q(b) =3-22
© PQ=-1+4V2 ® AB =22
@ AP = V2

0.0 2600 006 @Dae 6eo6

© Qb)) =3- V2
©PQ=2+V2-3+V2=-1+2V2
@AB=1




14. 4X®+ax+16= (bx+c)* oM a+b+c 2 322 (HF,b>0, ¢ <0)

® -7 @ -10 ® -12 @ -15 @—18

4% 4 ax +16 = (2x - 4)° 0|22
a=-16,b=2,c=—-4
“a+b+c=-16+2-4=-18




15.

)
o

-
ol
=

9x% = (m = 5)xy + 64y? o] HAFA 0] Hi= m o] FE]
H?

® -53 @ -43 (@)10 @ 43 ® 53

B

9x2 — (m — 5)xy + 64y> = (3x + 8y)?

= 9x? + 48xy + 64y?
(m-5) =484 @, m =53
(m-5)=-48Y W, m = -43
o h3-43=10




